A & 0l & AHSH Z Ml A
20238 =0l & LEHSIH T AIHIE
SN ZAIHE D
Hm: =29 HETA 2H
chel: S AIHE Ze CERE)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
S ALHIE 56,038 659,778 A603,740
SE2 HEZA 78 46,440 650,180 A603,740
CAIAE 2 40,940 642,680 /601,740
TAAHE 2E 31,740 33,420 A1,680
201 g2l 29,440 31,120 1,680
01 At 22l 29,440 31,120 21,680
NZAAEREE 2+
70,0002 * 16 *62] 6,720
NEAl - AEZEAAS 2A4L
70,0003 x 162 +63] 6,720
Nz 302 1,000, 0002 «2I 72| 14,000
NEAlZelHE 2 U2 & 22|
2,000,000& 2,000
203 PR F=TH| 2,300 2,300
03 Al F=T AR =LY 2,300 2,300
NEZAIAE gRFA 2,300,000& 2,300
HEIXl 2t 3,000 3,060 B0
201 Zer2d| 3,000 3,060 AB0
01 AtR2t2lbl 3,000 3,060 B0
NEg =22 500,000 x224 1,000
NEEEI =2 1,000,000 x224 2,000
2040 257 TAIZEAE 8 1,000 601,000 600,000
203 BR=4| 1,000 1,000 0
03 AIMF=T AR Y| 1,000 1,000 0
NAST TALEANE 28 2 =3
1,000,000& 1,000
oA el 20 XNSEdst I8 3,500 3,500 0
201 Zer2dd| 2,000 2,000
01 At2t2lbl 2,000 2,000
NaLAD Rl ARSHRAHE R st =4
NG EEERE M 2,000,000 2,000
203 L&Y 1,500 1,500
03 AIF=A AR F=LH| 1,500 1,500
NAReHE g2 =& 1,500,000 1,500
OI0tS <O XA = THEHl A= +~& 1,700 1,700
203 PR =TH| 1,700 1,700
03 AIF=T AR =LY 1,700 1,700
NoIotH N XIREIHE HE dR =&
1,700,000 1,700
OIOtS&MEHISA X+ e 4,000 6,000 /2,000
SHNIHIFLXF =2 4,000 6,000 22,000
201 g2l 2,000 4,000 A2,000
01 At 22l 2,000 4,000 22,000
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